	[image: ]


[image: ]


[image: ]

	[image: ]

[image: ]

[image: ]



[image: ]
[image: ]

[bookmark: _GoBack][image: ]
image6.png




image7.png
S5(x+1)-4(2x-3)<5x+7
17-3x<5x+7

8x>10




image8.png
2:(x+7)+8(3x-4)>3x-5(x—-4)

22.x — 46> 20 - 2-x
24-x > 66
66 11

X>— X>—
24 4




image9.png
“2(x+5)+8(x-7)<6x+11
6-Xx — 66 < 6:x + 11

—66 < 11 (OTX He 3aBHCHT)




image1.png




image2.png
-2x+1<8
-2-x<7

X>—




image3.png




image4.png
x+1
> -3

Xx+1>-6

x>-7




image5.png
2x-1
3

<225

2x-1<6.75

2:x <1775

X < 3.875




